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Questions 1 to: 10 carry 2 marks each. . Questions. 11 t
options’ are: glven. Oné of these is the cofrect answer.

oval (1 2; 3'or'4) onthe Optlcal Answer Sheet.

Make your cholcc (] 2, 3 or 4) and'-

L

ERRCK

. ..(1)_'-. b=

" In which of the fqllowmg numbers does the digit 4stand for 4007

(1) 4670
(2) 6470

. (3). - 6704

(4) 7640

“Which of the following is a miiltiple of 9?

(1 28
@ 19
3 3
@y 36

How many one-fifths are there in 4 wholcs‘?

‘1 :
4A l '\ . -._'. Tl am

'-,..i?. : e,

2

3y 35

@ 2
“Find the value of 2 — L.
T

a1

Noy

R EICEI LS

. Which of the following decimals is the greatest?.

(1)". 0257

(2) 0242
(3) 0.026
4) 0.185

.
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6.

2

" (I} .Zais smailer than 90~

8.

" Express —;%—%as a decimak
(1 0508

(3) 058

-In the figure below, which of the following statemeiits is comect?.. . . .. . ...

(2) * £bis greater than 90°
(3) Zcis greater than 90°
(4) Zd isequal to 90*

Bala was facingorth at first. He made a 90 anti-clockwise tumn. After that, he__;nade a% -turn
in the clockwise direction. Which direction waé he facing in te end? ..

(1)  North

. . e et - : P T st LA, . .
S s (2) " S{)Ulh Tt e s e lee St i e s g b i1 e fed e raann 0 e

(3)" East
4 West

"~ James watched ‘a’ movié wh}ch !asted for' ¥ K 13~mm- ’[he mov:e ended at 11 53 p m- What

ume did the’ mov:e stan‘?
(1) I ll-a—m
@ Lllpm.

@3 1635am.

10,

@) 1035pam. -

Al took a bus from Smgapore to Malacca at 10 45 p m. 'I‘hc bus nde took 4 h 40 mm What

- -time did he reach Malacca?

(1). 0225... .. -

(2)- 0325 -

(3) 1425
4) 1525



1t. Gina has gethered some data-on 4 quadrilaterals (A, B, C and D), which is recorded in-the
table shown below. o . '

.. | Opposite sides are equal .
-1 Opposite sidesare paraflel ... 1. ¢
All angles are right angles
| All sides are equal
Which one of the figures is a rectangle?
) A

(2) B
3 C
@ D

L R Y YL
NN
NAYASRNE

12.  The figure below is made up of 3 identical squares and a rectangle. The length of lhe rectangle
is 12 cm. Its breadth is 2 cm. What is'the length of XY?

(1)-16cm- T '-'w'\’:- o 12em Y
. (3) 6 Cm B R S P D S At T T, R e, Tt e e s

(4) 4 cm A T . .

13.-- A.squere fa_r_mlarl:d hes an area'-of-3§.m2':. Find _the peljirrieter of'.u_,.g_ fa-n'nlar}d,. )
(2 18m
S (B) Z4m
@ 36m

M ny neae ee b
RN -

_..-r‘."".-, St de ',

T4 Alan had a stored value of- $6 in his Ez—hnk card: He used his Ez-link card to pay $0.68 for a
~ bus: trnp What was the stored value mn h:s Ez—lmk card aﬁer the bus tnp‘?

(1) $o 62
‘@ 074
(3) $531
(4 $5.32



The total mass of three identical flower pots was 7.59 kg. What was the mass of each flower
The ot was the n och flowe
(1) 205kg
@) 24lkg.

S @Y 250kg”

@

(4) 2:53kg

. Which of the following is'a symmetrical image of the given fighré along line XY. - -

1G]




For Quwnons 17 to 19 plmse refer to the bar gmp}i 'below. ~
. The.bar graph shows the survey mults of all the fam:l:&s lwmg in ablock of flats.

25

20 §

15 4
‘Nomber of {5
" families 9 1

0 1 2 3 more
than 3
Number of children in cach family

17 How many famlhes l:vmg m the: block of ﬂats have 2 or more: cha]drcn?

il “

~18.  How many .fami!ies:live.in the block of flats?
cmee -
._'(2) 59,
o (3)- 62 -

BT Héw"iii;ﬁ;ehildren live in the Block of flats? "
(1) Between 49 and 73 children ~ ©
' (2) " More than 73 children
(3) Exactly 73 children
(4) Fewerthan 73 children



D. "Which of the fal lowling unit shapes canmot be tessellated? -

il)-: 1
L@
oy
N



'Q‘ue.stions\ 21 to 30 carry 2 marks each. Show your working clearly in the space below each.élu&hﬁon
"*and wiite your answers in the spdces provided. For questions which require units, give your answers in .
. . the units stated. . _ . ~ (20-marks)

; 21. Wﬁte the misr;ing number in the pumber P‘aﬁef_n%i:é]ow_.“'" -

2538 , 2688 , 2838, ,3138

22. Rb;lnd off 8'747 to the nearcst ten. .

Ans: -

23.  Which two of the fractions below are in the simplest form?

3.4 & 7
4.7,12 7 8710 5

Ans: and

.24, - -Amange the following fractions from.the grcatesi to the smallest. )

1 5 7
3767 12
- Ans:’ e T, : T
" (greatest) .(3mallest) . .
25.- ' Find the value of 1 —- —lé - % Give your answer in tilc simp]eéi form.

Ans:




26.  Which of the marked angles in the figure below are xight angles?=

-27.  Inthe figure, one of the lines is parallel to PU. Which line isparalle] fo-_PU‘_Z .

P

B .T PR Sr An.rf:“” e e e RS

28.  Write 7 hundredths in figures.

Ar_is: ‘

29.  §.6—095=

+30.; - Mr Chia left: home for work. at- 745 am:: He reached home alG: 35 p m: that evemng- How Iong
. was he away from home on that day" .

Ans: b min

End of Papert
9
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.. Questions 1 to 10 carry 2 marks each. Show. your workmg clearly in the space below each
question arid write your answers in the spaces provndcd. For guestions whlch require umts, give
your answers m the umts stated. . (20 marks)

»

- o

| A pxece of n'bbon is 157 cin long. Fmd the total lcngth of 76 such n'bbons : ‘, -

2. Caili used %kg of ﬂour to bake ;'ch(;(ﬁbi_zitc cake and '-'i%lig of fldur to'bake a butter cake.
How much flour did Caili use to bake both the cakes? .

_ . - Ans: L _ kg

o e .'._;.'_,

[T

3. A group of scouts was facing the ‘west. They madé a 90° anti-clockwisé turn and ‘continued

their journey. After travelling for some nmc they made a 180° clockwise turn. Which
dn'ccuon were they facing in the end?

Co- Dra\n'r-'a"!in'e pcrp'endicu}a;-;lq-.thc;li_ne XZ and passing through the point Yo




+

5 Inthe ﬁgmebglqw,fﬁﬁe-]_liéqsquare«mi&ﬁpﬁan({-zé{?EQiS%Q?FindﬁBEQb :
A_p g * ’ o

%.  The perimieter of 2 tectangle is 72 cmi. Its length is 26 cm. Find its breadth.

7. Peier 100k 2 sin to i i before jogiing arotnd his estaté for 1 47 min. e iopped

* jogging at 10.07 a.m. What time did he start the warm-up?

Ans: - - : am:

‘ 8 "In the figure bei_ol_w,. Line XY ;is‘ _the‘lin_-é of synimet:y:Sha&lé'G more -r'écta‘n-gl'és- tlo -lﬁal&c'th.e:
snas oo figure symmetsieal, L o G DU A

[




" 9; - The pattem in the .box ‘below- shows part of a tesscllation.; Extend the téssellation.by ..

drawing forr more unit shapes in the space provided in the box.

O T R

. 26 ER Clers gt A e :,-.a \ . :._;_._s.._...._ . .‘F“U”/‘”lb
24 '
22 - —Z4
20 — ' i

Height of _]_6 —= - : // S
- Plant MW T RN A
(o) 12—

SN A .
;

- s " Week_'s' ol - o ) . L.
The line graph above shows thé hel ghtofKarcn’splantovcr12 weeks. -
What was the increase in the height of the plant from. Weeks 5 to 97

v

Ans: cm




For Quesuons 11°to-18; show your working cleaily and write your apSwers clea:ly i the spaces’ .

" provided. The number of marks available is shown in the brackeis [ - Jat the énd of each question
or part—quesnon (30 marks)

. 11. - “Mr.Chua gave a total of $2436 to his three children. The eldest child received three timesias
much money as-the youngest child: The second child received twice-as. much money as the
youngest child. WhaI was the ammmt .of money given to his eldest child?’

12.  Every day, a bakery uses 84 kg of flour and 98 kg of mixed fruits to bake fruitcakes. What
is the total mass of flour and mixed fiuits used to. make fijuitcakm in 29 days? .

Ans: [3)




]3; Kannhas to-c.:ollect%.k'g of old nt;w;;'paperé for a:rcdyéliné iu_ojcqt._ She collected ll:gﬁ'om h
her telat:wes apd i-kg from hcr nelghbmﬁs How many more kllogrammm of old )

newspapers must she collect?

14. Mrs Tay baked some cookies. She gave % 6f the cookies 10 her neighbour and 30 cookies to

her ﬁiep__d; Shg_hac_l 69 cé_okies.lgﬁ. How many coblgi’és &id she bake?

Ans: i34




15. . ‘The. figure- below is made I of 2 identical: rectangleSr Gverlappmg mch other.c E-hch
rectangle has an-area of 96.m%. The overlappmg portion is a 3-m square,,
(a) What s the drea of the figure?
(b) What is the perimeter of the figure?.

_Ans: (a) Nl

(b) [2)




Y6 ¥F08 kg oF clay weié tised in-a pottery class. 2:68 kg of the clay were used by the instructor
for the demonstration. The réifiaining clay. was then shared equally among Zpupils. .
(2) How many kilogrammes of clay were shared by the 7 pupils?

(b) How many kilogrammes of clay did eath-pupil get?. .

Ans: (a) [2]

(o) 2



. 17: . §460;pencils, were sold in patkefs ofR:or 4:There was a'total 0£2408 packets sold:
How many:packets of 2 pencils-and how many packets'of 4 pencils were sold?

Ans: paekets of 2

packetsof 4 [5]

Q



18 Mrs le pmd $&6.10° to pmchase nckets Tor a chanty concert for: Adilts‘and’3 children.
' ‘Mirs Goh bought tickets for27adults” and 7 children for the samé concert. ##itket for an
adult cost $22:50.. )
- (@) -Howmuch de aticket. for archild cost” :
' .(b) * How much-more did Mrs Goh- pay forthe tickets than Mis Lim?

_Ans: (a) [3}

(b) 2]
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Q9 SEEPICTURE .

" Q10;9cm $22-13=9
Q11.$1218 -> 6 uints < 2436 +6 = 406, 3 units->» 406 x 3 = 1218

. Q12.5278kg
1 day-> 8471 +98 = 182, 2 days »182 x 29 = 5278

(Q13. 1kg 500g
2kg>2000g
| ikg-»1000g = -
© ke >1000:4=250
 {2000°500=1500

(14. 165 cookies
5-2=3, 3 units 2*69+30=-99,
| 1 unit » 99 = 3=33, 5 units *33 x5 =165

 [-q15a 183m? »3x3=9, 96-9=92, 87+96=183

.1 Q15b. 68m=> 8-3=5, Length of rectangles 96 +8=12,12-3=9

* [ Q16a. 8.40kg $11.08-2.68 =8.40

- |.Q16b. 1.2kg -)1.pppﬂ-)"8.4o s7= 12 -

* | Q17a.1600 packetsof2” ~ ~. =
2400 x 2 = 4800, 6400-4800=1600,
4-2=2, 1600+2=800 (packets of 4),
2400 — 800 = 1600 (packetsof2) - .

'Qi7b. 800
800 x 4=3200
1600 x 2 = 3200
3200+3200=6400
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Q18a:$13.70

| 2 adults $22.50x2 =45

3 children= 86.10-45 = 41.10
1 child 941.10 +3=13.70

Q18b. $54.80
7-3=4
13.70 x 4=54.80
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